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This is what he teaches us, like 29, etc. — 9121 272 1% YRR XP R

OVERVIEW
The X723 explained the reason the Xn»72 taught us that NV 21 AAWw2a and
7112 he is 79°P01 N5 21 is to inform us that IRXI7 NOXYM is not the one
7oX?% which 7717 12 °0°X was referring to, when he stated that for one 7198%n
there is no 27 if one transgresses it.' It is not clear however what *0°x meant
that for one 170X?» there is no 2vn. Does it mean that if he did this 79897
332 he is not DRLA 12792 227, or does it mean that if he did this 79X%n
712 he is not 712°p0 271 (or perhaps even both)? mooin discusses this issue.

— NYPON NN 1110 HNN DY 2990 19N YOIN NP NDT PNXS 13929 PP INND
The ' derives from this X712 here, that when >o°R taught he is not 23>
on one of them, he was referring only to the 79922 21°17; that for one 78
there is no 1%°po 2rn if it was done 7122 -

— 255 Yy 2N NNLVN YAN

However, concerning bringing a nXwn 1272; if someone transgressed this
same MW32 7oK1, then even “0°X will agree that he is 317 to bring a 127p
NXUT on any of the MaxYx that he did 2 w3, including the 72851 that he is 77°pon Mo if
he did it 7.

mooIn explains how the "1 came to this conclusion:
— INUNN IND INT
For if we assume that s"0°X ruling refers to a nRWR 127p; that for a certain
o871 there will be no nXwvi 210 if it was done Aw2 according to "o°X -
— NDYYD NRLN 2290 HIYA 7599 %3 19 ON
If the above were true, then when the X3 asks: “why does the Xn*72 need
to say that if he did the a2 7xX17 he is 37 a nRwR 1272? It is obvious!”

At this point (instead of the X3 answering that the Xn>72 wants to reach us that 7°12 he
is punishable by 77°p01 n12), the XM —

— 29919 ¥R XP XD MUY 1Y N
should have immediately answered (the final answer) that the Xn72 comes
to teach us like 29, that 78¥7 noX9» is not the 79877 that *0°X was referring to when

" If one transgresses 313 XX NIXYM he is NXLA 20 and T3 there is a 79°p01 N7 207,
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he said that on one of them you are not 21 a 332 nXv 1277.% Since the X3 did not give

this answer, that proves that >0°X was not discussing 3 and j27p, only 71 and 19°p0,

because w2 there is always a nXun 2vm, therefore the X713 could not have given this
3

answer.

mMooIn responds to an anticipated refutation of this proof. One may attempt to refute this
proof, by arguing that the reason the X713 did not give this suggested answer, is not
because "0°X is not referring to A W; it could well be that *0°X is referring to 3w, however
the Xnx did not give this answer, because the X723 felt it had a better answer, namely;
9 RDIXOR 79°p01 N0 Wy 112, To this Moo responds that we cannot say that this is a
better answer, on the contrary —

— 9791 23N XY NYY NIIVWIN NDIPDI NI YNY P13 2IUNT NPT
For the answer which the X ) actually gives (initially); that the Xn»92
wishes to tell us that if it was done 75722 it is punishable by 7% P21 na3,

this is no answer at all*, because this too is obvious, as the X3 is quick to point
out. Therefore we cannot say that the X713 had a better answer. We conclude therefore,
since the X3 did not give the suggested answer, this proves that *0°& was not referring to
W, only to 7.

mooIn responds to an anticipated difficulty with his assumption that *0°X was not referring
to AW DRV 211

— NNLVNA 999197 1IN Y291 29971 NP 2999197 Y12 NN KD INT NIPIYNY
Originally, when the X723 first quotes *0°X (19010 concedes), then the X773
certainly did not know that °o°X is referring to m%°pe, since the X3
contradicts the statement of "0’ with the statement of Jam» '3,° who is

discussing a nRW 127p, therefore at that point in our discussion the X723 is assuming
that *o°X is referring to a 3w.°

To resolve this apparent contradiction NM901N continues:

' We are now assuming that the ruling of *oX is regarding (the lack of) a nXon 211 by a aw.

? See footnote # 7 and “Thinking it over’ # 3.

* When mpoin says *7» 21wn X2, he means that by itself it is no answer. It is an answer if it comes to tell us
1772. However if we say 2772, we should have said it right away by 2w if it were applicable.

3 »"3 teaches that there is a nXvr 27 for all thirty-nine naw Max» (even if they were done X D9v712).

% The question being posed here is that we have two opposite assumptions; either a) that *o°X is discussing
AW, which we must assume to understand the contradiction with 731 ", or b) 190N assumption that *OX is
referring only to 79°p01 71, which we need to assume in order to explain why the X713 did not answer
immediately 273 2"»p X7, as noted above. [When mooin states here 121 ¥y7° X2 K71 X1p°ym, he (is not
referring to the X717 7707, but rather N1901N) is referring to the one who asked 121 °X. See footnote # 7.]
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— NP0 MMPINY S8 XY NAN NIN 290 IPNT DIVN 1391

For that assumption that "0°X is referring to nXvn was valid when we read

the text of "0°X stating: *‘he is 2311 only for one’’; then it is obvious that 0°X

is not referring to 7% 2%. He could not be saying that you are not 21 more than one
2P0 -

— 1199 195509 Y5V YIN2 IONY

For is it at all possible to kill him with two deaths! Therefore as long as the

text read NNX X?X 21 WX we are forced to assume that he is referring to aw, and
therefore there is the contradiction with 171 " -

— Y0ON 9INP 119 NNNX JY 29N 1IINT Y91 5 HaN
However after the X773 resolves the contradiction with 1171 ', by clarifying
that the text reads: that (only) “on one of them he is not 2%°17’; this is what
SO said -
— (0,39 1079 Y1) UY9T PIINNN YD KT N99PD NIN YOIN 299N NIT 999U ¥419 IN
Then’ the xn1 rightfully knew that >o°X is discussing only 7%9pg, for "X
does not argue® on our 73w in 9173 593 7o -

— NNNXY HNN D3 DY 299NT 913515 NI NPT

which mentions the number’ of the Mox?1 NMax to teach us that he is 2°°7
a NRLM 1277 for every W2 oKX,

mooIn adds, according to the above-mentioned; that °0°X maintains that there is a 211
nxwn for all the M5RY1 vY, this will clarify another &3:

— ANT PN 22N VNP (x,00 ov) Y1) Y93 P9 YWIIAT NN 9PV INN)

And according to this, it will be well understood, that which we find in the

beginning of 173 ®9> P> where the X comments concerning this
statement of 37> ', in which he says -

— 515 2N HNN BYYNA 91D INVY ONY

That if he transgressed by doing all the naw nm>ox%»n in one state of

7 Even though noon derives his own assumption (that "X is referring to 790 only) from the text in the
X713 prior to this resolution (as soon as the X713 answers 131 M1 Wy 7142 [see footnote # 3]); we will need
to say that the entire text beginning with "27 9%X7" until "7n nnX" is to be read as if it is bracketed in
parenthesis. The X237 1701 knew of the ultimate conclusion, that the text of *0°X reads 'J7n nNR ¥ 20 1K'
and therefore could not and did not answer immediately by 23w that 2975 5"np &1

8 The *" himself derived that >o°X is not referring to » W, from the text of the X3, as stated above in
moon. Here nvon is teaching us how the X713 came to this same conclusion. See ‘Thinking it over # 1.

? See the following > ~ax1 1"7 'oIn.
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ignorance, (that he did not realize that he is desecrating the n2¥ during the
entire time that he did all the max%» v"?), nevertheless he is 21 a 1277 for
each 7OR%n, ete. The xnx asks:
— Y5nma mawh nY v
In what respect did he realize that it is naw.
— N2PY 2297 NIYIN) 1PIINNA NY Y197 W91
The X723 there explains that he knew the M0°X of going beyond a 210

naw, and we are discussing according to ¥''% who maintains that 7 1m0 NOR
7700, but it is not one of the MaRo» v"7, therefore there is the possibility to bring thirty-
nine DXV NMI27P because he did not know any of the noX%7, but he knew that today is
naw in the sense that it is MOX to wander outside the 2IN.

— NNV 29N 1IN NNT SDINTA 19 Y194 91919 813 NY)
And the X771 could not have said that he knew that it is n2w, in the sense
that he knew this one 7oK%n that 0’8 claims that he is not 2»n if he
transgresses it''. The reason the &»3 did not give this answer is because as
mooIn has been pointing out all along, “©°X maintains that you are 2717 a

nXwr on all the mox>n. It is only concerning 779°p01 712, that *0°X maintains that there is
one 7719871 which is exempt from this punishment.

Mmoo brings additional proof to support his contention that *0°X is referencing only 77°p0:
— Zoaunpa w19

And >"'w1 also interprets the 77 of "X that it refers to 7n°» 21 and not DXL 277,
— Pn9rm0 1y YOINTY SN (15 41 PN WA 1P

10 One brings a 127p for Awa naw 712°1 in one of two ways; either a) one knows that it is naw, but does not
realize that this particular 72877 is 10K, in which case, as many MaxX?1 as you do 3Ww2 that is the amount of
MI17p you have to bring, or b) one forgot that today is naw, in which case you bring only one j27p,
regardless of how many N198%1 you did. Since 731> "1 says that X" 93 ¥ 20 nnX 09972 0210 XYY 0N, he
must be discussing option ‘a’ above, a case that he knew it was naw, but he did not know even one 779X
which is MmoX. The question is what we mean that he knew it was naw, since he does not know even one
7oR7n that is forbidden.

" Even though he would not be 27r thirty-nine n127p, only thirty-eight, since we are excluding s"oX,
nevertheless this would not contradict the 71wn, since he is 21 on all the N1OX?7 that it is possible to be 21
for their transgression.[See X"5w that N©OIN proof is 7"V a TWa1 7nn; if we assume that X171 means all thirty
nine are nXvn 21 and *0°X does not argue on the 71wy, that proves that "0°X maintains X"X 5% 21, and if
X111 can mean thirty eight, then why did not the X773 answer *o°k72 112 ¥7°7.] See ‘Thinking it over' # 5.

12 See "1 ann PHY 270 RY 172 w0 AAR" 5N, DY 20K 2 .

3 The X3 there cites various opinions as to what 79X the wwipn did which warranted his 77°po.
According to each opinion this 79871 (which brought a 1%°po 21°1) is not the 79871 which o} excluded.
From this we derive that *o°X is discussing 712°p0.
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And later in the X723 in the beginning of P97 P19, the X723 quotes the
ruling of "o°X in regards to 7%°p® 21’17 (only) -

— ¥nN0n 12299 $INRY 01PN DIYA VINNYINI N
And we do not find anywhere that we quote the ruling of *0°X concerning

NRWIT 211, This supports the view of the > that *0°X said his ruling in regards to 19°p0,
but not for nxvrm.

mooIn anticipates and responds to a difficulty:
— Bxan 92 31999 (10 91 RN P9 U2 10PY 1999RT XD
And that which the X 13 say further in the beginning of the last pap;
‘according to N»m 93 19 who maintains that for m» (driving an animal on naw),
one is 177°p0 2°°11 for 7711, but for AW he is J27pPn Mo, that -
— AYPO INTT Y DX2N NNON INNY Y PA1NY Y3 MNP 290 NI
Perhaps this is what the aforementioned &n>12 was saying; ‘any 71ox5% for

which one is 217 a 332 nRwr, then one must be 7912 790 291, but it is
also possible that one is not w2 nXvn 21 and nevertheless is 7°Tn2 77°P0 2n, which
agrees with the ruling of ¥»r1 72 °»7. Regarding this answer -

— YDINI NDT NI NONN NHN 92 9097 NIOINT TUN )2 PNYY 19929 99N
The X''2°9 says that according to X»n 92 "»9, who interpreted that Xn>72 in
the aforementioned manner, namely that anyone who is A2 nNXWT 277 must
be 7°tna 7°p0 2m; then we must say that Xn>»2 does not conform to the
ruling of So°N -

11970 N NNVN 2NT NNNT NN YOINYT
For according to "o°R there is a situation where one is 2 w2 nRwR 2957 and

nevertheless is not 7°12 799P% 2°1. We are referring to this unknown 719X where
"0°X maintains (according to the >"7 [and X"2*7]) that he is 2Ww2 nXvr 21 and not 20
7192 112°P0 in contradiction to s'RaM 92 7 interpretation of the Xn>>Ma.

SUMMARY
nMooIN maintains that the ruling of *0°X, which says that on one of the maxo»

' From this we derive that *0°X is not discussing nXurm 2.

'> The X3 there asks on the ruling of 1"27, we learnt (in a Xn>12) that whoever desecrates the naw through
an act which one is 332 j27p 21, then 712 one is 77°p0 21, which seems to indicate, that if one is not
AW1 127p 27, then one is not 7112 72°p0 271, which contradicts the ruling of Xan 12 *27 concerning .
To which the X713 replies as continued in Moo text. [See ‘Thinking it over’ # 4.]
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you are not 2»m, this is referring to 7°7m2 72°p0 21°1; by a AW however 0°X
agrees that you are nNXvr j27p2 2™ nn for transgressing any of the naX>A.
Otherwise, the %) should have answered immediately, 2772 %"»p &7, In
addition "o°x will not argue with the mwn in 2173 993. ¢

mooIn also explains that the interpretation as to what *0°X was referring to
depends on the proper X07° of what °0°X actually said. If the X07°3 is 1R
"nnR ROR 21, then obviously *0°X is referring to nXvr 127p. If the X073 is as
the X3 concludes; "7 NAR %9 271 1KY, then 0°X is referring only to 79°p0.

THINKING IT OVER

1. moon and the X 13 have different reasons how and why they assume that
X is referring to 79°p0 and not nxvr.'” Why does not moon rely solely on
the s'"®7nma reason? And why does not the X n31 rely on N19010 reason?

2. When the X3 answered "7°% X203°R 5011 101 72", what did the X
really mean?

3. Can we refute mdoIn proof'® by saying that the reason the &n3 did not say
immediately by aw, that 2775 9"»p R, is because at this time we were 07
in the text of *0°X that "nnAx KPR 277 10R1"2Y

4. Would "o°X (according to n1901n) have any difficulty with the Xn>972 which
states: 'T2°P0 INTT DY 17271 NRLA MM DY 1AM 1272 NAwn nR Yomna'?* Why
does this differ than the interpretation of xnn 12 172!

5. mooin explains that the X did not answer °0°X72 12 Y7°7 since "O°K
maintains that he is nxvn 21 on all nMax>».>> Why should the X3 answer
"0°X72 117 ¥7°7 rather than ¥"17 X298 Pawnna 7% v107?!

' See X"wn as to why we do not derive this from *o°X himself who also mentions the number thirty-nine.
See the following *"2 7% 77"7 '01n (footnote # 8).

17 See footnote # 8.

'8 See footnote # 3.

" See omax 1.

2 See footnote # 15.

*! See 0",

2 See footnote # 11.
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